Lines and Circles

1.

X

A line has the equation x? + y? = 25,
What is the length of this line?

A circle has the equation (x + 7)% + (y — 3)? = 25.
a What are the co-ordinates of the centre of this circle?
b What is the area of the circle?

A circle has the equation x? + y? = 49,
Another line has the equation y = x + 2.
At what points do these two lines intersect each other?

A circle A has the equation x? + y? = 81.

Another line B runs through the points (-12,-2) and (-10,1).

a Find the equation of line B.

b. Find the co-ordinates of the points where line B intersects circle A.

A circle A has the equation (x — 5)% + (y — 8)% = 36.
Another line B runs through the points (-14,-2) and (-4,2).
Find the equation where the line B intersects with circle A.

Success Criteria Completed
| can identify the radius of a circle from the
equation of the circle in the form

x% +y? = r?

| can calculate the circumference of a circle
using the formula C = 2nr

| can calculate the area of a circle using the
formula A = nr?

| can find the centre of a circle from the
equation of the form:
(x—a)>+(x—b)*>= r?

| can find the gradient of a straight line
given two points.

| can find the intercept of a straight line
given a gradient and a point.

| can fine the equation of a straight line in
the formy = mx + ¢

| can solve simultaneous equations
including an equation in quadratic form by

substitution.
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